
Module 2 Similar Shapes Answers
1)

2)  

3) 

4) 

5) 
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9 (a) (i) Similar 1 Allow enlargement 

  (ii) 4.5                             2 M1 for 

6

9

3

=
AX

 oe 

  (iii) 13.5   cao 2 M1 for 

2

2

3

⎟

⎠

⎞
⎜

⎝

⎛
 or 

2

3

2

⎟

⎠

⎞
⎜

⎝

⎛
  oe  e.g. using base and 

height but other methods must be complete  

  (iv) 180 – x – y  oe 

180 – x  oe 

 

B1 

B1 

 

 (b) (i) 96 1  

  (ii) 48  ft 1ft ft 0.5 their (b)(i) 

  (iii) 97  ft 1ft ft 145 – their (b)(ii)  

  (iv) 35 1 

 

 

 (c) 20n = 360 oe or 160

)2(180

=

−

n

n

  oe 

or 180(n – 2) = 8 × 360 oe  

or 

nn

360

180

360

8 −=⎟

⎠

⎞
⎜

⎝

⎛
 

M2 

 

 

M1 for 9e = 180 oe allow diagram to show this 

if reasonably clear 

or M1 for 8 × 360 or 

n

3608×

 

 18  www 3 A1  

10 (a) Pentagon 

Octagon             20 

1 

1, 1 

 

 

 (b)(i) 35 1  

  (ii) 54 1 

 

 

 (c)(i) p = 2, q = 3  3 M1 for substituting a value of n e.g. 

2)4(4

1

=− q

p

   3≥n  

or M1 for number of diagonals from one 

vertex is n – 3  (allow in words) 

and B1 for one correct value.   If 0, SC1 for 

)3(

2

−n

n

  seen. 

  (ii) 4850  ft 1ft ft their (c)(i) allow only if ft calculates to a 

positive integer. 

  (iii) 20  cao 2 SC1 for answer of 17  

or M1 for their formula = 170  

 

 (d) 31  cao 1  
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Mark 

1 847 1 

 

 

2 correct regions shaded 1, 1 

 

 

3 48 2 

 

B1 for 3 and 16 seen 

4 (a) 10 

 

(b) 5.5 oe 

1 

 

1 

 

5 (a) 86400 

 

(b) 8.64 × 10
4

 

1 

 

1ft 

 

6 108 2 
M1 for 3

3

 or 27 or 

3

3

1

⎟

⎠

⎞
⎜

⎝

⎛
 or 

27

1

 seen 

7 13 3 B1 for 12, 5 seen M1 for (their 12)
2

 + (their 5)
2 

or M2 √[(–8 – 4)
2

 + (1 – 6)
2

] oe  

or M1 if √ missing 

8 6.70 3 M1 for ( r
3

 = ) 1260 × 

π4

3

 oe seen 

M1 for 3  of their r
3

 seen or implied 

9 22.5 oe 3 B2 180 = 5x +2x + x oe or better 

B1 for 2x or 6x marked in the correct place on the 

diagram. 

10 x = 13 

y = –9 

3 M1 for consistent multiplication and 

addition/subtraction 

A1 for x = 13 or A1 for y = -9 

11 (a) 85.8 

 

(b) 456.8625 cao 

2 

 

1 

M1 for 23.25 and 19.65 seen 

12 (a) (0)8(.)01 (am) 

 

(b) 78.4 or 78.38 to 78.39 

1 

 

3 

Not 8.01pm 

 

M2 for 827 ÷ 10.55 

or M1 for figs 827 ÷ their time 

13 (a) 0.54 

 

 

(b) 1.61 

2 

 

 

2 

M1 for 

000010

000207.2 ×

 oe  

or SC1 for figs 54 in answer 

 

SC1 for figs 161 or M1 200
2

 or 20 000
2

 seen 
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12 

d

x−840

 or 

d

x

d

−

840

 

3 M1 400 × 2.1 

M1 “400 × 2.1” – x 

13 

 

 

 

 

 

 

 

 

 

            R 

 

 

 

3 Give the mark for R shown in region below 

 

                          2   

 

                  3                  1     

                          2   

  

     2                  1                 0 

 

14  y = 4x + 1 3 B1 correct numerical y = mx + c 

B1 c = 1  

B1 m = 4 

15 4.94 3 M1 π r
2

 × 12 = 920 

M1 (r
2

) = 

)12π(their 

920

×

 

16 

)2)(2(

25

+−

−

xx

x

 

3 M1 2(x + 2) + 3(x – 2) seen 

B1 (x – 2)(x + 2) common denom. seen 

17 (a) 

 

 (b) 

4.5(0) 

 

200 

1 

 

2 

 

 

M1 0.5
3

 or 2
3

 seen  

18 (a) 

 

 (b) 

27x
9 

 

25x
4

 

2 

 

2 

B1 kx
9

 or 27x
n 

 

B1 kx
4

 or 25x
n 

19 (a) 

 

 (b) 

32 

 

37.5 

2 

 

2 

B1 figs 32 or 1 cm to 2.5 km or 8 000 000 seen 

 

B1 (figs 25)
2

 seen or figs 375 in answer 

20 (a) 

 

 (b) 

 

 (c) 

 

 (d) 

35 

 

55 

 

55 

 

125 

1 

 

1ft 

 

1ft 

 

1ft 

 

 

90 – (a)   but b > 0  

 

= (b) 

 

180 – (c) 

21 96 www 5 M1 3
2

 + 4
2

 

A1 5 

M1 ½ × 6 × “5” (= 15) 

M1 4 × their triangle area + 6
2
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5 (a) (i) Similar     1 Accept enlargement 

  (ii) 2.7              2 M1 for 

4

3

6.3

=

PQ

     oe 

  (iii) 3.15 2 M1 for 

2

4

3

⎟

⎠

⎞
⎜

⎝

⎛
  or  

2

3

4

⎟

⎠

⎞
⎜

⎝

⎛
 o.e  seen 

If Cabsin

2

1

 used or base and height used then 

must be full method for M1  
 (b) (i) 29 1  

  (ii) 61  ft 1ft ft 90 – their (i) if (i) is acute 

  (iii) 61  ft 1ft ft their (ii) if their (ii) is acute, but can recover 

  (iv) 119  ft 1ft ft 180 – their (iii)  

 

 (c) (i) 20 1  

  (ii) 110 3 M1 for adding 6 angles going up 4 each time 

and  

M1 (indep) for 720 seen and not spoiled 

(6A + 60 = 720 o.e. scores M2)    

6 (a) –2.5, –2, 2, 2.5  2 B1 for 3 correct 

 

 (b) 4 points correct ft 

Correct shape curve through at least 9 

points over full domain 

Two branches either side of y-axis and 

not touching it  

P1ft 

C1ft 

 

B1 

 

ft only if correct shape and isw any curve 

outside domain (including crossing y-axis) 

Independent 

 (c) –1, 0, 1  2 B1 for two correct, each extra –1  

 

 (d) (x) < –1 and (x) > 1 as final answer 2 B1 B1 Condone inclusive inequality, allow in 

words, condone inclusion of – 4 and + 4 as 

limits. 11 −<< x  or 1− > x > 1 SC1  

11 <<− x  scores 0. Each extra –1 if more 

than two answers.  

 

 (e) (i) Correct ruled line though (–2, –3) to 

(1, 3)   

2 SC1 for ruled line gradient 2 or y-intercept 1 

from x = –2 to 1 or correct line but short or 

good freehand full line.   

  (ii) Some reasonable indication on graph 

for both points 

1 e.g. points of intersection marked, or, lines 

drawn from point of intersection to x-axis etc 

  (iii) x
2

 + 1 = 2x
2

 + x  oe  then x
2

 + x – 1 = 0 3 E2 Must be intermediate step before answer – 

no errors or omissions 

 

or 1

1

+= x

x

  then 1 = x
2

 + x  

then x
2

 + x – 1 = 0 

 

or E1 Either no intermediate step or one error 

or omission. 

 1, –1  B1     
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working   
Qu. Answers Mark Part Marks 

1 –8.3 1 Allow –8

10

3

 

2 21 55  1 Allow 9.55 pm 

3 1.6305 cao 2 B1 4.33(44…) seen or answer 1.63, 1.630, 

1.6304….
 

4 

   

1, 1 
 

5 Correct working 2 M1 

4

15

 + 

3

4

 = 

12

16

12

45

+  

M1 

12

1

5

12

61

=  

6 4.93% < 

41

20

 < 0.492 < 

161

80

 2 Allow decimal equivalents in answer space 

M1 decimals 0.48(78..), 0.496(8..), 0.0493   

7 1.14 2 M1 3.38 ÷ 1.04 (= 3.25)   

or M1 4.39 × 1.04  

8 1200 2 M1 figs 8 ÷ 40 × figs 9 ÷ 15   

or M1 (figs 8 × figs 9) ÷ (40 × 15) 

9 9.6 cao  2 M1 

10

12

8

=

x

 oe  

10 216.32 cao 2 M1 200 × (1 + (4/100))
2

 oe     

11 13
 

2 M1 21 + 15 – 23  

or M1 15 – x + x + 21 – x + 1 = 24 oe  

12 (a) 25 

 

(b) 0.4 

1 

 

1 

If zero scored SC1 for 250 and 4 or  

6.25 and 6.35 

13 10a + b or a × 10
1

 + b (× 10
0

) 2 M1 [a × 10
7

 + b × 10
6

] ÷ 10
6

   


